-~ English Work Pack 2021- Term 4
L

Seymour Year 9
College
Learning Intention | Success Criteria
| can:
To explain the themes behind the class text - ldentify the themes present in the film
To re-watch key scenes and explain their impact - Explain the importance of key scenes
To create character profiles - Create character profiles
To read information about real world examples of - Complete a variety of activities related to
the impact of integration the film
Week 3

Lesson 1 | Character profiles

Lesson 2 | Themes in Remember the Titans

Lesson 3 | Key scene analysis

Lesson 4 | Key scene analysis

Week 4

Lesson 1 | Quotes and themes

Lesson 2 | Real world examples

Lesson 3 | Real world examples

Lesson 4 | Remember the Titans comprehension questions

Notes to Parents/Guardians:
You can support your child to complete their work at home by:

e Encouraging them to allocate time for specific subjects

¢ Reading the material and talking about the ideas with your child (where possible)
¢  Checking in with your child to ask how they are going

e Contacting Teachers if more support or explanation is required

Submission of Work and Feedback:

Students can upload work to Compass where access is available. Photos of handwritten tasks may also be uploaded or emailed to
teachers. Students can also mail hard copies of their work back to the school in the supplied envelope.

Students and parents can continue to communicate with Teachers via Compass email. Any questions should be directed to the
school email: seymour.co@ education.vic.2ov.au

Check Compass every day as your teacher may have organised a Webex check-in or lesson that they want you to attend.



Week 3

Lesson 1

First | 15 minutes reading

Next | Complete the character profile handout

Then | Work through the Gerry/Julius activities

Last | Complete the ‘Who was better’ activity

Character Profiles- you will need these for work in the coming weeks

For each character explain:

- the role they play in the film

- a key relationship they have with another character
- a significant event that happens to them

- how they develop/change throughout the film

Bill Yoast




Julius Campbell

Gerry Bertier




Petey

Cheryl




. GerrylJulius activities
Find evidence from the film to support the following statements.

Gerry is captain of the team but in the beginning he is not a good leader.

Gerry begins to be a leader and starts being less racist.

Gerry is willing to lose friends to do the right thing.

Julius is aware of the tension around integration at the start of the film.

Julius is cautious about being in predominately white spaces.

Julius develops a strong relationship with Gerry throughout the film.




My favourite character.

Who was your favourite character in the film? Why? Refer to evidence from the film to support
your answer.

Lesson 2

First | 15 minutes reading

Next | Read the information on themes

Then | Brainstorm some of the themes in the film

Last | Message a friend one good thing from today.\

A theme is a central idea or message within a
narrative.

There are two categories of theme: what the
audience thinks the work is about and what
the work says about the subject.

. The subject of RtT is the power of sport to
unify people who previously disliked one
another.

What do you think the message of Remember the Titans is?

What does the film say about the impact of sport on the issue of racism?




What are some of the themes present in the film (other than sport and racism)?

Lesson 3

First | 15 minutes reading

Next | Read through the scene analysis questions and list of themes

Then | Re-watch the scenes and link them to a theme

Last | Answer the scene analysis questions for 3 scenes

Themes
Some of the themes in the film are:

— Unity — Brotherhood — Trust — Strength — Courage — Pride

Scene Analysis Questions
For each scene complete the 4 sets of questions.
Context: When does the scene happen in the film? What happens before and after?

Elements/Mis en scene: Everything you can see in the scene, including the characters, lighting,
costumes, camera angles/shots and what effect these have on the audience

Tone: What type of emotions/feelings does this scene convey? Is it serious, fun, energetic,
anxious etc?

Message: What is the message of the scene? What role does is play in continuing the story of the
film?







Lesson 4

First | 15 minutes reading

Next | Continue with the key scene analysis from the previous lesson. You should have 6 sets
of answers.

Then | Complete the 3-2-1 activity

Last | Watch a different inspirational sport film and think about how it is different to RtT

3-2-1 activity

What are 3 new things you learnt from the film?

What are 2 things you want to know more about?

What is 1 thing that surprised you?




Week 4 Lesson 1

First | 15 minutes reading

Next | Match the quote activity

Then | Theme and quote/scene

Last | Choose your favourite quote and explain why you like it.

Quote activity

Read through the quotes and match them to who you think said them. There is one trick person,
and a person may have said more than one quote. Try and find the answer using the internet/the
film. We will also discuss them in class.

Once you have matched the quote to the character, write down which theme you think the quote
represents (from last lesson).Highlight your favourite quote in the list and explain why you like it.

| don't care if you like each other
or not, but you will respect each
other. And maybe... | don’t
know, maybe we’ll learn to play
this game like men.

Fred Budds

Theme

This is all your doing! You
blacks-

Sunshine

Coach Boone, you did a good
job up here. You ran a good
camp from what | can see.

Julius Campbell

You make sure they remember,
forever, the night they played the
Titans!

Gerry Bertier

Alice, are you blind? Don’t you
see the family resemblance?
That's my brother.

Bill Yoast

Sometimes life is hard for no
reason at all.

Cheryl Yoast

You've taught this city to trust the
soul of a man, rather than the
look of him, and | guess it's time
| joined the club.

Herman Boone

Attitude reflects leadership,
captain.

Carol Boone




Lesson 2

First | 15 minutes reading

Next | Read through the Remember the Titans review

Then | Answer the question about the popularity of RtT

Last | Watch the sport film video and write down one film you'd like to watch and why

https://www.youtube.com/watch?v=_1IskR1JBUQ

Remember the Titans review

REMEMBER THE TITANS Turns 20 In 2020: 4 Things To Love About The Football Movie
By Tess Farrand, Associate Content Editor
“We're in a fight. You boys are doing all that you can do. Anybody can see that. Win or lose...
we’re gonna walk out of this stadium tonight with our heads held high. Do your best. That’s all
anybody can ask for” — Denzel Washington.
2020 marks 20 years since Disney’'s REMEMBER THE TITANS (RTT) released in theaters. In

honour of its upcoming anniversary, here are four things to love about the classic football movie.
RTT refutes racism

REMEMBER THE TITANS is based on a true story where black and white high school students
integrate for the school year and things go haywire. RTT's most beautiful feature is that it doesn't
condone racism. Rather, it refutes this behaviour and honours the characters’ strides to grow in
unity.

The characters in RTT demonstrate love toward one another

This movie gives an important life-lesson about exchanging hate for loyal friendships.

Since the basis of RTT is all about overcoming racism, it's refreshing to see that with time, the
characters grow to love and respect one another. At one pivotal moment in the movie, one of the
main white football players, Gerry, chooses his friend, Julius, over what his girlfriend thinks about
interacting with someone of a different skin colour.

The cast of RTT give unmatched performances

Denzel Washington does a stand-up job as the protagonist Coach Herman Boone. Washington’s
chilling monologues and visible emotions make the movie come alive for audiences.

Will Patton stars as Washington's right-hand man, coach Bill Yoast. Although sceptical of a
black/white team at the beginning of the movie, Patton’s character changes his tune when he
learns the values of effective communication.

RTT gives every football fan something to be happy about

Why do you think RtT is still so popular?




Lesson 3

First | 15 minutes reading

Next | Read through the ‘lies’ from the film

Then | Answer the questions about the film

Last | Complete the ‘My life as a movie’ activity

Here are some true answers to questions about the film, ‘Remember the Titans’.

Was T.C. Williams High School integrated in 19717

NO, T.C. Williams High was integrated in 1965. Now remember a large part of this movie was
about the integration of the school in 1971 and how the team came together, breaking through
racial strife — simply not true.

Was there racial tension on the team?
NO. Many players in the last ten years have come out and told different media outlets that the
racial tension portrayed in Remember the Titans did not exist.

Did Coach Herman Boone really toss a banana to rival Coach Tyrell at the end of a game?
NO, this never happened. In fact, there was no Coach Tyrell to even toss a banana to, as he was
also completely made up.

Did Gerry Bertier and Julius Campbell become best friends in real life?
YES; Bertier and Campbell were friends in real life just like a lot of other players became friends.

Was Ronnie “Sunshine” Bass really a long-haired hippie from California?

Bass did come from California, but to portray him as a hippie is a bit of an exaggeration. "l was
never quite like that,” Bass told the Greenville (SC) News. “But that's Hollywood. I'll say for the
record my hair was never that long.” In fact, a lot of his teammates had long hair, including Gary
Bertier.

Did a referees’ plot to ensure that the Titans would lose a game really exist?
NEVER. All the teams that Williams High played were integrated as well, so there is no actual
proof this ever happened.

In real life, was Sheryl Yoast really an only child who lived with her father?
NO. In actuality, Sheryl Yoast lived with her mother and *three* sisters! The real Sheryl Yoast
sadly passed away due to a heart condition in 1996.

Were the Titans often the underdogs, as the film implies?
NO, not even close! The Titans were almost always heavy favourites and outscored opponents by
a whopping 338-38. That included nine shutouts and a 27-0 state championship game win.

Was Gerry Bertier really paralyzed in a car accident before the championship game?
Partially true: Bertier was paralyzed in a car accident, but the accident actually happened *after*
the season — and he played in the state title game.



Questions

Why do you think Disney made so many changes in the film?

Do you disagree with any of the changes? Why/why not?

My life as a movie

Choose three events from your life that you would change or dramatize if it was
turned into a movie. An example has been done for you.

Real life

Movie version

Had an allergic reaction and had to stay in
hospital overnight

Being treated with an epi-pen by a family
member and rushed to hospital in an
ambulance with all the bells and whistles




Lesson 4

First | 15 minutes reading

Next | Complete the cloze activity

Then | Watch the video interview and write down any new information you learn

https://www.youtube.com/watch?v=xMChQFHJgTw

Last | Are there any similarities between Remember the Titans and sport in Australia? Explain
your answer with reference to examples.

Cloze activity

Use the list of words to fill in the blanks. Some word are used more than once.

Black White football mix Hermann Bill
camp common get-along captains team mates racism
segregation abuse Emma team singing Power
Rev black impressive  kicked-out hippies kicked
friends support paralysed hard soul look

In 1971 the schools in Alexandria, Virginia were integrated to mix and students

together in the same school. At T.C Williams's high school the team had to be remade

with a of black and white students.

An African American man, named was hired as the new head coach, replacing

, the previous coach. Many of the people in town thought should be
the head coach because he was a man.

The players did not get along with each other. They went on a together and were

forced to get to know each other. They discovered they had lots of things in and

started to with each other. Gerry and Julius were both and shared a room

while on camp. They were not close friends by the end of camp but they were good

When the team got back from camp there was lots of drama at school because of
Many students and parents wanted to return. The players had to put up with lots of
. Gerry’'s girlfriend, , was rude to Julius and would not talk to any of the

black students.

The Titans won their first two games but stopped working as a . One of their teammates
called them together and they decided to warm up in different way, by , to show
everyone they had “Soul




At the next game, Ray, a white player, missed a block that led to , 8 player
getting injured. Sunshine joined the game and showed he was an player. They won
the game and a group of them went out to celebrate afterwards but were of a
restaurant because they didn’t serve blacks or

Gerry knew Ray missed the block on purpose and him off the team even though they
had been best

The Titans won every game they played up to the semi-finals. The town started to
them and be less racist.

After the semi-final Gerry was in a car crash and became

The team went to the championship game and worked to win. They showed the town
how to, “Trust the of a person rather than the of him.”

Write down any new information you learned from the video here:

Are there any similarities between Remember the Titans and sport in Australia? Explain
your answer with reference to examples.







For skill builder help go to www.mathsmate.net

MATHS MATE
Term 2 - Sheet 3

Due Date: ........... S, /o,

NAME: ...,

Parent's Signature: ...

1. [Long x,+] *
39x21=
2. [Decimal +,-] *
2349 -5.06=
3. [Decimal x,+]
0.01 x45.63 =
4 [Fraction +,-] *
7 3
—_t =
8§ 8
5. [Fraction x,+]
3 1
—X ==
475
6. [Percentages] ¥
25% of 500 =
7. [Decimals / Fractions / Percentages]

Write E as a decimal.
20

8. [Integer +,-]

(+4) + (=6) =
9. [Integer x,+]

(#F9) x(2)=

10. [Rates/Ratios] *

tunnel?
11.  [indices
4
1) _
10
12 [Square Roots]

\2.25 =

|

The Eurostar train takes around 20 minutes to
cross the Euro Tunnel, which is 52 km long.
What is the train’s average speed through the

km/h

13.

14.

15.

16.

17.

18.

19.

20.

21.

{Exploting Number}

Write the rational approximation of 7 correct
to two decimal places, where 1t = 3.14159265
[Note: = is the ratio of a circle’s circumference ’—_
to its diameter.]

—_—

[Applied Number] *
Hugh slept for 10% of the one and a half hour
flight from Melbourne to Sydney. How long in

minutes did Hugh spend napping?

[Number Patterns]

Complete the pattern: :
7:4919_29_59

L

[Expressions]

Simplify dx4 xc

[Substitution] *
Ifm=4andn=35,

find the value of 4m+n

[Expansion]

Expand g2 - h)

[Factorisation]

Factorise 3st+ 6tu ‘

[Equations] *
Solve forx: 5+4x=3

|Graphs & Functions]

Plot the graph of the linear rule y=—1 on

the Cartesian plane below by first completing
this table of values. [Label the graph with the rule.]

x 2 | -l o 1 | 2
V. -1 ‘

QUOTE OF THE WEEK: The man who cannot believe in himself cannot believe in anything else. Roy L. Smith

page 25
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For skill builder help go to www.mathsmate.net

22 {Units of Measurement / Time] 29 [Statistics]
Find the minimum accepted mass when a How many European mountain ranges have
soccer ball must weigh 430 £ 20 g. peaks between 2500 m and 3500 m?
Mountain Ranges
g | European Union Alpine Biogeographic Region
23. [Perimeter / Area] * s Length of range (km)  Highest peak (m)
What is the perimeter in centimetres of a 0_5 10[09 ; ;20|0(? 5 ;30|09 200 SOI-OO
regular octagon with sides measuring 17 mm? Pyrences james . N |
. Alps| = S . :
ﬂ Apennines + | [
24 [Surface Area / Volume)] * Scandes _ | |
Kate’s house exterior needs painting. Carpathians ——Lr E | [
Disregarding windows and doors, find the Balkar b | | I
surface area of the walls. . | m m | ’
Rhodope e P
| 0 1000 2000 3000 4000 5000
: Sm
7m
om 15 m 30.  (Provabiity] *
8 m 5 A fly lands on a square of the draught board.
‘ m What is the probability that the fly lands on a
square containing a black draught?
25. [Pythagoras] *
Find the positive solution for ¢: ] .I_[. ® .I
82+152=¢ @ 0 e
26 [Shapes) | .L e
[ am a quadrilateral with only one pair of | @ B
opposite sides parallel. What am 1? B © |
A) parallelogram =@ -
B) rectangle | ©
C) trapezium
D) kite 31, (Problem Solving 1] *
97, irogies * Each of these bags contains two apples. One
. o o bag contains two green apples, another two red
Find the values of x° and y°. .
apples and the third one green and one red
apple. All three bags are mislabelled. You
y° - may look at only one apple from any one of
1230 . . the bags. Which bag should you select from
X = Yy = to be sure you can determine the content of all
three bags?
28 [Exploring Geometry] e ol LI,
Which transformation has moved triangle RN T2 6N
DEF to its new position D’E’F? [ ¥ l Q [-"' :F
bag 1 bag 2 bag 3
32.  (Problem Solving 2] *
| A palindrome is a number that reads the same
forwards and backwards, such as 22 or 39 793.
How many palindromes are there
between 10 and 400?
9.2.3 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2010
page 26 @@@ @ @@ O
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MATHS MATE
Term 2 - Sheet 4

NAME: e
Due Date: ........... . A

Parent's Signature: ...

—d

10.

11

12

[Long x,+] *

45x 18 =

[Decimal +,-] *

1.048 - 0.099 =

[Decimal x,+]

8.09x0.01 =

[Fraction +-] ¥

13 1

12 12

[Fraction x,+)
1 3

— X ==
2 8

[Percentages] *

4% of 1000 =

[Decimals / Fractions / Percentages] ¥
Russia holds a quarter of the world’s natural
gas resources. Write this as a
decimal.

[Integer +,-]

9 +(+8) =

[Integer x,+]

N8 =

[Rates / Ratios] *
The maximum cruise speed of the Airbus A380
is around 1000 km/h. At this speed, how long

will it take an Airbus A380 to

travel 12 000 km?

[Indices]

- C

[Square Roots]

121=

15.

16.

17.

18.

19.

20.

21

13.

|14.

[Exploring Number]

V3 = 1.73205081
Write the rational approximation of 3 correct
to three decimal places.

[Applied Number] *
Ahmed sells a property for $148 000 and earns
3% commission. How much is Ahmed’s
commission?

$

[Number Patterns]

Complete the pattern:

12,8,4,0,—4,
—)
[Expressions)

Simplify 5xm+3

[Substitution] *

Ifm=10andn=1,

find the value of %— n

[Expansion]

Expand [/(3+m)

[Factorisation]

Factorise 4xy — 6yz

[Equations] *

Solve for x: 4—% =5

[Graphs & Functions]

Plot the graph of the linear rule y = x on

the Cartesian plane below by first completing
this table of values. [Label the graph with the rule.]

x | 2 o 1 2
y -2
,,,,, e
4}
t |
332 23 ax

QUOTE OF THE WEEK: You can only find truth with logic if you have already found truth without it. G. K. Chesterton

page 27
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For skill builder help go to www.mathsmate.net

22 [Units of Measurement / Time] 29 [Statistics]
Find the maximum accepted height when a In 2009, which Melbourne water catchment
basketball ring must be positioned was nearest to full capacity?
3050 + 6 mm above the floor. I capacity at full supply Current volume [
mm 1068000 g~
) Melbourne Water Catchments 2009 Supply
300000
23.  [Perimeter / Area] * 250000 | B
What is the perimeter in metres of an isosceles gzoo 000
triangle with congruent sides measuring 2 sool® B R
230 cm and the other side measuring 2.9 m? gwoooo
50000
\{3( : 20° \03( \{eb“ T \\\la‘;\ 6\(\.\3 :
24 (surface Area / Volume] * 1‘(\0‘(:)99 et A & ‘:\)9 RO e fae
Find the total surface area of the podium.
= 1 Z105m 30.  (Probaviity} *
i 3 A fly lands onto a square of the chess board.
m?2 What is the probability that the fly lands on a
6m square containing a pawn (£ or §)?
25,  [Pytnagoras) * I lﬁ-ﬁ-m &0 a i
Find the positive solution for a: T 108 13
! 2_F'2 4 2|2 2% 2/3 %
a +7" =25 -
26. [Shapes] l
I am a quadrilateral with both pairs of opposite 1 [E]
angles equal, but no axis of symmetry. What - rw
am 12 A 00 A PN & V] & TR
. 0|8 D A eN B
A) kite Jii=taa
B) parallelogram
C) trapezium 31.  (Problem Solving 1] *
D) rhombus A pattern of triangles is made from toothpicks
27 (angles) * as shown below. I_f there are 87 toothpicks
Find the values of x° and y°. used, how many triangles have been formed?
.’f/"\
NSO »° _
50° x°
x° = yo =
28. [Exploring Geometry] 32 [Pr‘oble.m Solving 2] *
Which transformation has moved Fill in th? num_ber§ 2 to 8 so that the sum on
triangle ABC to its new position AB’C’? each straight line is 15.
' _ 1 () [
A P Q)
~ “"Y”\)
J \_
9.2.4 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2010
page 28 @@@ @ @@ O



Essential Assessment

PISt linear relationships

Name: Date:

Linear and Non-Linear | Plot linear relationships onﬁe Cartesian plane with and Ml_ifhouf fhe use of digital technologies”}

Relationships | (VCMNA283)

Understanding [l a -

1. Write a rule using the information provided in each case. 2. Complete each table by using the rule provided.
a) If you multiply the number of squares by 3 and / x 0 2 4 6 8 10
add 1 you get the number of matches. (@ a) y=4x+2 2
y
x | —4 | -1 2 5 |12 | 15
b) y=2x-8
b) If we add $300 to the amount of pies sold, each = L4
worth $4.20, we can work out our profit.
X x |—6] 0 1 3 9 | 21
) y==+5
5 y

1. Use the table of values in each case to determine the rule. 2. Graph the table of values on the axis provided.

g ¥ | 0 [ 37 |9 11|15 Rule P - ﬁ

y | =5 | 4 | 16 | 22 | 28 | 40 6 _g :

—4 -3 :

b)| » [-5|-2| 3| 6 | 10] 12 Rule -2 -1 o1
y | -7|-1] 9 [15]23]27 0 1 . LU,

2 | 3 IEEEE

Oy a0 2]2]s8]10 Rule 4 5 = 5

y | =9|-7|-6|-5|-3|-2 6 7 ‘ i ; _;:.

SA — g

Problem Solving

1. Plot each of the linear equations listed below on the axis provided by substituting different values into each equation for x.

a) y=12x d y=dx , 1] 4

[ T E T )

b) y=2x+3 e) y=3x R T

—

I
D I A Y O
123456?391611&2

. I .
e

1
A Al

c) y=3x f) y=-2x

-
=3

i
~

Reasoning

1. Compare the steepness of each line in the previous 2. Colour the equations that have a linear relationship.
question. Is there a relationship between the number in

front of x and the steepness of the line? If so, what is the y=Xx y=2x—4 I y = 349 ‘
relationship? z

fy=2x2_3 J y:x

2

y=x°

© Essential Assessment 2012-2019
The Victorian Curriculum F-10 content elements are © VCAA, reproduced by permission. The VCAA does not endorse or make any warranties regarding this resource. The Victorian
Curriculum F-10 and related content con be accessed directly at the VCAA website.




EssentialAssessment

Name: Date:

Linear and Non-Linear | Solve linear equations using algebraic and graphical techniques. Verify solutions by substitution |

Relationships | (VCMINA284)

Understanding

1. Solve each of the following linear equations for the unknown. Show your working for each question.

a) x+6=14 d) 4x =20 g) 24=-x+12 iy 4x-3=9 m) S-5=9

b) x—12 =10 e) —7x =28 h) £=3 k) 2x+ 15 =29 n) $-10=-35
X

¢) 17=w-13 f) =8 i) 35 =—7x ) 16 =4x—12 o) ;—7=-3

1. Solve each of the following linear equations for the unknown. Show your working for each question.

a) x—9=0 d) 0=7x~21 g) 2"3-4=6 i) _12=3x2—6 m)5x4*9+3=7
b) 0=17—x e) §_6=0 h)¥=8 k)9=4x3—9 n) T2 Lo gy
¢) 5x—45=0 f) 0=>+5 ) =0 ) 18==2 o) =416 =14

Problem Solving

1. Solve each of the linear equations for the unknown. 2. Communicate Telco calculates the charge-out

a) 2x+5=4x—15 ¢) 6x—12=3x+6 rate for each call on their mobile phone plans
by using the rule: ¢ = 0.2t + 0.5, where c is the
costin § and t is the time in minutes.

a) if a customer makes a phone call for 54 minutes, how ||

b) ~5x—9=3x+15 d) 9x—20=-3x+16 much will it cost the customer?

b) If the cost to a customer was $4.20, how long was the
phone call?

Reasoning

1. Mark has calculated that the solution for x in the 2. Calculate the solutions for x in the quadratic equations.

equation below is 5. Check if he has got the correct a) x?=9 d) 81 =«x?
solution by substituting this value into the equation.
22=3x—-37
b) x? =25 e) 100 = x?2
c) x2=49 f) 144 = x?

© Essential Assessment 2012-2019
The Victorian Curriculum F-10 content elements are © VCAA, reproduced by permission. The VCAA does not endorse or make any warranties regarding this resource. The Victorign
Curriculum F-10 and related content can be accessed directly at the VCAA website.




Essential Assessment

Name: Date:

' Fina_tﬁtgistar-\ce betwéen t\E points located onda Cartesian |c;l_ané using a range of strateg?e_s,
including graphing software (VCMNA308)

Linear and Non-Linear
Relationships

Understanding
1. Calculate the distance between the 2 points on each Cartesian plane.
a) 0] b) 10

g g

B (] a ]

7 7

& &

5 ' 5

a a

3 3

2 2 c

1 1

0 X 1] x

12 34567 89 10 12 3 4567 89 10
| ruency [ -
1. Find the distance between the 2 coordinate points given in each question.
a) Find the distance between (4,6) and (10,14) d) Find the distance between (—1,4) and (6,28)
|

b) Find the distance between (2,5) and (10,20) e) Find the distance between (7,13) and (47,22) I
¢) Find the distance between (7,4) and (12,16) f)  Find the distance between (—2,1) and (1, —3)

Problem Solving I

1. Margaret hikes due east 1.4km to visit a landmark and then changes direction and walks due north 1.9km to
visit a waterfall. How far is she, directly from her starting position, correct to 2 decimal places?

2. A ship sails due west 22km and then changes direction and sails due north 30/km. How far is the boat from its starting
position, correct to 2 decimal places?

Reasoning

1. Determine which line is longer: a straight line between the coordinates (12,16) and (19,21), or a straight line between the
coordinates (10,3) and (18,7). Show your working to demonstrate your proof.

© Essential Assessment 2012-2019
The Victorian Curriculum F-10 content elements are © VCAA, reproduced by permission. The VCAA does not endorse or make any warranties regarding this resource. The Yictorign
Curriculum F-10 and related content can be accessed directly at the VCAA website.
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Solving One Step Equations - Addition/Subtraction

© FREEFALL MATHEMATICS - FREEFALL MATHEMATICS ALTITUDE BOOK 1 - LICENSED FOR NON-COMMERCIAL USE

Look at these equations % Now solve these ({@ 6& ) The letter is on the right and
and give the value for ‘ equations showing \ \‘ so these need an extra line.
the pronumeral \\l‘ working \ | Find the value of the letter.
F+8=10 = Examples Examples
_ — 16=5+c¢ 35=e-7
b+15=285 a-9=27
[2]p+3=15 @ @ @ @ @ @ @
b="70 a=36 =c 42-e
3]dra=9 e 1 sl 1] L B e
24|c+15=22 25|y +11=28| — -
[4]x+20=60 [44]20=7-11 [45]19=m+4
[5]7-10=5 - R
6 m-8=20 26]x-9=34 [27]t-7=18
[71h+9=30 —— — |46/|83=r+16 47|12=n-36
18]1-20=70 28/g-20=17 [29]5+10=11
19 w-15=104
10]s+12=13 30/n+26=26 [31]d-20=77|18]64=19+% [49]11=m-17
11]u-9=9
[12]g+7=23 32]t-14=33 [33]a-11=59

[13) n- 100 = 40
[14] y+22=30
[15]a+16=150

34]15+g=33 [35|w-9=38

36]x-12=38 [37]18 +c=27

50/87=u-51 [51]100=a-9

52/33=18+s |53]56=d-24

[16]e-7=6

[17]z-11=5

18] c-10=94 38]e+7=103 [39]i-56=11| ——— —
19 j+3= 101 54]75=p+55 [55/86=37+x
201y +35=100 40)37+n=80 [41]k-8=109

21 t-4=24

m-17=4
23] x+ 11 =100

[42)d-90=1

43| u-15=163

[56]11=j-11

57/62=16+1¢




Solving One Step Equations - Multiplication
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Look at these equations
and give the value for
the pronumeral

A

[1]4d=38
[2]6h=
[3]5x=45
[4]9g=36
[5]10n=120
[6]7e=42
[7]8y=56
|8 5t=55
19| 11a=44
110] 99 =18
11]3z=39
12] 2w =30
13) 5 =15
15p =45
15| 4b=28
16]6¢=136
17) 2k =48
18] 9y =90
30u =180
20| 15x =60
21]2v=34
22] 7/ = 84
23] 5t=0

d.—_

Solve these equations

only this time show your
TI working out.

Examples
6p = 54

p=9

3¢ =36

8a =40

11g=9
[]
—L]
12¢ =60

20m =9

[

[]

5 =3
S
:

25 9u=
L]
—[]
27] 2w =54
17t="7
L]
—[]
31] 15x =13
L]
—[]
33] Tr=42

These will have fraction

A answers that can be
\Lsimpliﬁed

34) 6/ =73

0

36] 15k

I
O

|
L0

35]8d=6

|
L0

Il
—
(S}

|
L0

40a =25

|
(I

24f

1l
=)

LI

30h=12

|
HNin'n

12v=10

|
L 0

20s

Il
—_
=

|
HNig'n

3

o8]
W
=

4

N
=]

|
L

These can be changed
from improper fractions
?to mixed numerals

44 4r=9
L]

L]

L]

46| 8n =35

[]

[ ]
L]

48|11z =50

|
[ [
N

[45] 3¢ =11
[

[

LI

14d =33

[]

49] 4k =33

[ ]
LI

L1 O]
L]
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Solving One Step Equations - Division

—_ = e s
I~ O ) ] e e e e e S
oo =

—
(=)

Find the value for the
letter that will make
these equations true.

showing working

Now solve these equations

Examples
d_g
@7 @
d=56
7l x _g
9
19] 4 —19
12
21 ks
5
23] n _y
6
25| m 2
53
27y _3
31
290 2~y
4
gzg

x;

Y =5

GD 1 D
v=255

1§ 5 s
15

£ =9

Y=y
20

LU
10

4 _9s
4

2 =40
5

£ =13
10

32] h_4
6

This time the questions
involve decimals. Try to

answer without a calculator,
spaces are provided.

o0

Examples
k_3,

4
k=128

33) 2 -34
2

LAY
7.1

=7
29

4 =5
4.7

L -96
3

by
0.8

[41] §=74




Substitution & Table of Values
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substitute the values into

Ifa=2,b=3andc =35, C lete these table of values. =3y -
a and ¢ ‘;@ 1_212__;19_4_3__1356 able of values.| y=3x-9

the expressions and solve. y=x+5 |42 0 )
Examples c¢-a 2a+c | o ] > [ 3|4
=5-2 =2x2+5 Yy
=3 =9 4 28] y=-5x+11
1] 4a 2]k |20 y=2x+3 x|-4l2|0]2
=L ] ZQX_D xlo|1]2]3[4]]y
D 2 Y @ QThese are a bit different|
3{3¢c+2 4 - -
y= 5x-1 @ y-x=5

0 T

x| 0|1 | 2|3

[
=
o
—_
()
w
~

ac+bc= = y Y
(6]c-3b = = |22 R 30] x+y=11

[7]36+c _ _

e
=
—_
&}
w
N
=
=
—
S}
w

a [E—

@b - - | A
(9] ata-o) = - y=12-2x y-T=x
[10] 10 -ac = _ x|lo|1]|2|3]|4 x| 0|1 ]2]3
Usex=0,1,2, ... And y y
so on to complete these.
Note that the x values have changed | X-y= 0

Using y = 2x, find y when:

—
N

x=O:EXD= y=x+10 x| 0| 1|23
c=1:[ <[ ] x |2 )-1]o]1 2|,

x=2: ]XD = y l'_ Note that the x values have changed
x=3:D><j= y=x-17 x=8-y

Using y = 3x + 2, find y when: ) x| -21-1101]1

>
1
[\
'
—
o
f—

+

x=0:D><

+

[—
&
=
i
[a—
X

i
=
1
[\
1
—t
o
ot
\S)
=
1
[ )
]
[
(===
[

E
L
] ] ]
| ] ] ]
B[
E

[
<
<




Straight Lines - Positive Quadrant & Cost Functions
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.Complete the table of values then plot the points. *S= 15 [“Mite-e-Willow” manufacture cricket bats. The
) |Draw the line and remember to show arrow heads J/ |manufacture cost function and sales function are
N and the name of the line. List the coordinates for shown. Complete the table of values and plot the
the points of intersection when required. lines. The intersection is the break even point.
y
_____ | @ Operation Costs: A= 10n+ 90 000
8 (1] y=2 n| 1000 | 2000 | 3000 | 4000 | 5000
- xfO0)1]2]|3]4 A
_____ - 110 Income Sales: A=25n
° y=x+3 7] 1000 | 2000 | 3000 | 4000 | 5000
% xJO0fj1|2]3]|4 A
¥y | Use different colours for each line |
_____ r | )
4 180f : ' '
y=3-x 170l- Key: Costs:
-3 sloli1l213 160l Income:
Y 150
2 . . 140
E Points of Intersection: .
_____ S 130
1
(|:|s D) ’ (Ds D) 9 2 120
< - X 110}
0 1 2 3 4 X
‘, (|:|3 D) . & 100
N
[Use the lower grid for these| : o1
80F
5] y=x-3 6] y=3x-5 § |
x|3]4|5]6]|7 x|213|4]5]s g ol
Yy Y 50
40|
7] y-uxrd im0 ‘
x{0[2])4([6]8 x{0]2]4]16]8 20l
Y J 10}
13"y 0 1 2 3 4 5 6 7 i
P Number of Bats (#) x 1 000
11 @ How many bats have to be sold to break even?
10
‘lZ’ How much does it cost to make 2 500 bats?
9
] E What was the income on selling 7 000 bats?
[ 14| What was the profit on selling 7 000 bats?
g
6
z FMite-e-Willow” sold 38 000 bats for the year, calculate: |
] The cost of production The sales income
3 A=10n+ 90 000 A=
2 =10x +90 000
1] A=
- o
o »n 22 3 4 5 6 70 8 9 10 11 121:
v X ﬁl The profit.




Finding the Equation of a Line

© FREEFALL MATHEMATICS - FREEFALL MATHEMATICS ALTITUDE BOQK 2 - LICENSED FOR NON-COMMERCIAL USE

Find the y-value atx = 0, A Now find the equations of the e‘, Change the points on the graph
then find the Gradient * < lines given the table of values. to a table then find the line
amount between y values. s ‘- equation by the same method.

Example |[x|oJi1]2|3]4]|Example |xfJofi1{2]3]4
yls)7]9]11]13 yl-1]-3]-5]-7]-9

/' NAOANA | Atx=0 NN ANA
aen 2 242 92 y_m/-z 333
tx= L
_ ' Gradient:
Y= Gradlent: IThe v-value goes at

Gradient goes in
the back, including front of the x
he sign.
xfofl1]2]3]4 e
sl2[1 470 Equation: y=|-2|x[-]| 1

including the sign.
NN AN AN A |Answer these using your Column 1 answers.]

—
Lo

+/-
Atx=0 @ Equation: y=| |x Ij
y= Gradient: I For Q.6 Use Gradient and y-value from Q.1 |
X
o1 [2]3]4] |[7/Equation: y=| |x 5
For Q.7 Use Gradient and y-value from Q.2
ylo]|s|10f15]20 2o NANAN AN
+/-
NANANANA Equation: y=| |[x[] Atx=0
Atx=0 l For Q.8 Use Gradient and y-value from Q.3 y= EI Gradient: D
y= Gradient: I:l . .
|9 |Equation: y= Equation: y =
«lo 1 9 3 4 | For Q.9 Use Gradient and y-value from Q.4 |
y
y | -9 {-10(-11{-12}-13] [|[10]Equation: y= 4
NN AN NN A | For Q.10 Use Gradient and y-value from Q.5 I
2
Atx=0
T , [ TsT2TaToe
y= Gradient: |:| %
y132(22]112}12 -8 —t

L T2TaTol 112 NG NG NG

yl516|7]8]9 Atx=0
A~ |y=[ |  Gradien: [ |

Atx=0 Equation: y =

y= Gradient: D
sfol1]2]3]4 x
SITT2T1To 1 ]2 y|8|10]12]14]16 Y
yl2f1]of1]2 NSANANANA B B
SANANANA Atx=0 Atx=0

Atx=0 y=_ ]  Gradient: | ||y=[ ]  Gradient: [ |

y= Gradient: I:l Equation: y = Equation: y =
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Alphabet Challenge Year 9s and 10s

Your name is your workout.
Each letter equals one exercise. Complete the workout. Repeat this workout at least 3 times a week
(Email a time-lapse video of your workout to your respective PE teacher to receive a token)
Want to step it up a notch? Do your middle name/last name? Do your father’s/mother’s name.
Can you do the entire alphabet?
Let’s see how much you can do

A =30 Arms Circle (15 Clockwise + 15 Anti-
Clockwise)

B = 10 Burpees (advance: push up at the
bottom)

C = 15 Crunches

D = 10 Chairs Dip Bent Legs (advance: straight
legs)

E = 30 Seconds Elbow Plank

F = 30 Seconds Hold Weighted Front Arm
Raised (1 bottle of 11 for each arm)

G = 20 Glute Bridge (Both Legs)

H = 10-30 Seconds Handstand (back against
the wall)

| = 10 In-And-Out Squats
J = 10 Jumping Squats
K = 10 Alternate Legs Front Kicks

L = 10 Lying Leg Raise

M = 20 Mountain Climbers

N = 20 Side Lunges (10 each side)
O = 20m Outside Sprint

P = 30 Seconds Plank

Q = 20 Bicycle Crunches

R = 30 Rope Skipping/Shadow Skipping
(skipping without rope motion)

S = 20 Star Jump
T = 20 Russian Twists

U = 10 Push Ups/Knee Pus-Up/Bench Push-
Ups

V = 10-30 Seconds V-Sit Hold &
W = 1-Minute Wall Sit

X = 30 Calf Raises

Y = 3 Laps of Hop Scotch

Z = 10 Meters Crab Crawlin

You don't have to be

great to start, but you
have to start to be great.

Zig Ziglar







Seymour
College

Student:

Humanities Work Pack 2021
Year 9 Term 4 Workpack 2

Teacher:

Learning Intention

- To build an understanding of life in Australia
during colonial times

- To gain perspective of the Indigenous people
whose lands were stolen

Success Criteria

I will be able to read and understand the learning
materials

I will be able to answer questions in full sentences
My answers will be detailed and complete

Lesson 1 Chapter 10.3 The Colonies of Australia

Lesson 2 Chapter 10.4 Development of the Colonies during the 1800s

Lesson 3 Chapter 10.5 The Impact of early colonisation on Indigenous people

Lesson 4 Chapter 10.6 Ongoing effects of colonisation on Indigenous
populations

Lesson 5 Special Interest: online access to Melbourne Museum resource on
Mummies

L |

Notes to Parents/Guardians:

You can support your child to complete their work at home by:
® Encouraging them to allocate time for specific subjects
* Reading the material and talking about the ideas with your child (where possible)
¢ Checking in with your child to ask how they are going

¢ Contacting Teachers if more support or explanation is required

Submission of Work and Feedback:

Students can upload work to Compass where access is available. Photos of handwritten tasks may also
be uploaded. Students can also mail hard copies of their work back to the school in the supplied

envelope.

Students and parents can continue to communicate with Teachers via Compass email.
Any questions should be directed to the school email:

seymour.co@education.vic.gov.au




LESSON 1
Chapter 10.3 The Colonies of Australia
First: Read the following — Chapter 10.3 The Colonies of Australia

Remember to consider the images and their captions and look at words in BOLD to help
increase your vocabulary. If you come across words you are not familiar with, make
sure you look up the definitions and write them down as this will boost your
understanding.

Then: Answer the questions in full sentences.
You need to read the questions carefully and answer all parts.
For example, question 1 says:

1. Where and when was the first settlement established in Victoria, and why was it
later abandoned?

So your answer needs to include the location of the first settlement, the date it was first
settled and why it was abandoned.

If you look on page 318 under the subheading The Port Philip District (Victoria) you wil
find the answers in Paragraph 1.

Answers: Sorrento — 1803 — because of a lack of fresh water.
So to put these into a full sentence, your answer should be:

The first settlement in Victoria was established in Sorrento in 1803 but was later
abandoned due to the lack of fresh water.

Answer questions 2,5,6.7,9 (a&Db), 10. 13 & 14
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LESSON 2
Chapter 10.4 Development of the colonies during the 1800s
First: Read the following — Chapter 10.4 Development of the colonies during the 1800s

Remember to consider the images and their captions and look at words in BOLD to help
increase your vocabulary. If you come across words you are not familiar with, make
sure you look up the definitions and write them down as this will boost your

understanding.
Then: Answer the questions in full sentences.
You need to read the questions carefully and answer all parts.

Answer questions 1,2, 4& 5




e

AN s N
Mg o Vg A GG Ag CEAOUCEL (0 BTN

P ORS00 SO0 AU PR W YN Y §

: Liy 7 T s TV G
Pl 0 LEL SO0 WO Vb ionites e T Buglsiice MLy AL O e L M)
L) SN DU LD A e DU S 7 I 0 O

AL S RO WL O fy LN

se/ijeue e Aoy

# JRRM P N0 SRt e ) Ol L

PO TLOW 052 1 RN, TSI TS S o

N L L T W] | sl re
- Faoy L yrlog Doy e s ew LAY G DG ) T P
A W 4 Sy LEQOY Dl AT gl vl s g AR S hd D b a0 ey E
CMOVOT) IR TN DN L0 .3 Gue BURG] WioY
o, IREATR U CUR O S0 W O vy ) WALy 0 cas) W rmi) et [
RO L (LA (R, OIS A |0 DSE BCRAT O [DRRD 04 5) K AN IS AUTE UL PR A L
T PUB SIS Ll £t 0 T T )

IS R R L e

TR T LT T PR T T

TP R VI VIR |

e i sl pay

and ey Foop ddang

BT o DU D R L BRI ST 0T G T A N G

AR L SR TN S e (

Wi BUgA § Pl Py af PUBRD

R ki Y 5 PG @RI [0 I e
g O G e PN D wea i “wirjncd s
UL D5 o FIRIAL BIEL PRI S 3 RO R,
SO JRIT] SIE FPLE VT AR S TR RN Tan ¥ ATy S
Y ,fﬁx._wvgﬂticﬂﬁu! ,aﬂEuﬁ.wE-ﬁu oo, LU LTI R R T PR S
“phadatingd U IIM01 BRI Arbin B4 GAniNy AR, LY AT
sl et apkion o B LG BBy w sl
Wupag wloas a5 Frys 003 BpUO I s 0a B G AR

LT

B AN COAN BRA IR ) oy

Lielits Ny g uaosy pusdaa
B ABTI[L AR R LY U A e
DR TL LB JUIRTTE S S e R F TR = L

Rl il - Ex..i Rl

TR RTERRTTRN TR

G A ek O o L i g g

SQOSL oY3 PuLNp S8IUoj0D
9y} jJo wewdoanaq v'01L



LESSON 3
Chapter 10.5 The Impact of early colonisation on Indigenous people

First: Read the following — Chapter 10.5 The Impact of early colonisation on Indigenous
people

Remember to consider the images and their captions and look at words in BOLD to help
increase your vocabulary. If you come across words you are not familiar with, make
sure you look up the definitions and write them down as this will boost your
understanding.

Then: Answer the questions in full sentences.
You need to read the questions carefully and answer all parts.

Answer questions 1,2, 3,4, 5.6, &7
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LESSON 4
Chapter 10.6 Ongoing effects of colonisation on Indigenous populations

First: Read the following — Chapter 10.6 Ongoing effects of colonisation on Indigenous
populations

Remember to consider the images and their captions and look at words in BOLD to help
increase your vocabulary. If you come across words you are not familiar with, make
sure you look up the definitions and write them down as this will boost your
understanding.

Then: Answer the questions in full sentences.
You need to read the questions carefully and answer all parts.

Answer questions 1,2, 3,4&5
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LESSON 5

Special Interest: online access to Melbourne Museum resource on the Ocean and
Mummies

(Click on the link or copy/paste into your browser then enter the password provided
below)

IMAX online — limited time only!
FREE
AVAILABLE UNTIL 25 OCTOBER

IMAX and Museums Victoria present a limited run of virtual screenings of two popular films,
exclusive to Victorian teachers! We all know the only place to watch IMAX documentaries is
in the theatre, and we can’t wait to have you back in November.

WILD OCEAN

Take a trip to the wild coast of South Africa and plunge into an underwater feeding frenzy
with dolphins, sharks, whales, gannets, seals and billions of fish. Wild Ocean celebrates the
animals depending on us to survive and the efforts by local people to protect this invaluable
ecological resource. Follow the link and use the password GSFWOT2021 to

watch: https://vimeo.com/604315611

MUMMIES: SECRETS OF THE PHARAOHS

Meet the researchers and explorers piecing together clues from mummies to unravel
fascinating secrets of the past. Archaeology and the science of genetics combine to reveal
ancient facts of culture, medicine and daily life. Follow the link and use the password
GSFMU2021 to watch: https://vimeo.com/604263413




